12a0206 (K12a0206)

\_, Solving Sequence
1

. 27>6—>3>4—>8—>5>1—->9->12>10> 1> C5,C10
A knot dlagra Cg C2  C €7 ¢4 €1 € Ci2 C9g (11 ’

Ideals for irreducible component#ﬂ)f Xpar

I = W? +u 4+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 52 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u?4+u +.--+2u—1)

(i) Arc colorings
0
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ud 4+ 2u” 4+ ud —2ud —u
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ayp =
—ul® — 4yt — 8ul? — 8ut0 — 4u® + 2u8 + 4ut + 2u?

u? +6u? + -+ 2ud +u
u27+7u25+.,_+3u3+u

B0 0Bt 2 41
—u®® — 10w + - - + 8ut + 3u?

w4+ 120t + - 4ud + 20
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u?® +13u "+ -+ 6ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®! — 4450 + ... + 16u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ub? 290 - —2u 1
C2,Cq u?? — Pt 20— 1
C3,C4,C7 uP? F Pt 4 4 9u -2
€5, C10 w4t 20— 1
08,09,211 W2 110 4 2u 1
12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘@ Y2 —11y° + - —5dy + 1
C2,Ce Y429y =2y 41
C3,C4,C1 Y% =51yt -+ 115y + 4
C5,C10 Y2 =11yt -2y + 1
€8, C9, C11 y52+61y51++2y+1
C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.444793 + 0.9012261

0.92885 — 2.079641

—4.26783 + 3.516991

—0.444793 — 0.9012261

0.92885 + 2.079641

—4.26783 — 3.516991

SRS S

0.146457 + 0.9723291

—1.98877 — 1.225861

—14.2459 + 3.87331

~
IS

= 0.146457 — 0.9723291

—1.98877 + 1.225861

—14.2459 — 3.87331

0.323497 + 0.9886591

—3.15249 4 2.680211

—16.7312 — 6.14381

= 0.323497 — 0.9886591

—3.15249 — 2.680211

—16.7312 + 6.14381

0.456989 + 0.9639971

0.08024 + 6.293401

—7.80687 — 10.484121

0.456989 — 0.9639971

0.08024 — 6.293401

—7.80687 4 10.484121

—0.533289 + 0.9356201

8.97543 — 1.964571

—4.12437 + 3.296801

—0.533289 — 0.9356201

8.97543 4+ 1.964571

—4.12437 — 3.296801

= 0.010867 + 1.0839701

5.22663 — 3.188361

—9.99011 + 2.495131

IS RS ESE R B -~ E~

0.010867 — 1.0839701

5.22663 + 3.188361

—9.99011 — 2.495131

~
IS

= 0.533053 + 0.9461951

8.84021 + 8.511511

—4.50581 — 8.086981

= 0.533053 — 0.9461951

8.84021 — 8.511511

—4.50581 + 8.086981

= —0.286778 + 0.8381731

—0.49981 — 1.356921

—5.02302 + 4.662341

= —0.286778 — 0.8381731

0.49981 + 1.356921

—5.02302 — 4.662341

= —0.844411 + 0.1005081

4.53747 + 8.385881

—5.64729 — 5.073231

= —0.844411 — 0.1005081

4.53747 — 8.385881

—5.64729 + 5.073231

= 0.835966 + 0.1041581

4.83277 — 1.899061

—5.09326 + 0.334851

= 0.835966 — 0.1041581

4.83277 + 1.89906.1

—5.09326 — 0.334851

IS RS ESE R B A~

= —0.836110 + 0.0522961

3.96880 + 5.074501

—9.58177 — 6.044551

~
IS

= —0.836110 — 0.0522961

—3.96880 — 5.074501

—9.58177 + 6.044551

—0.837189

—6.56025

—14.2030

0.800491 + 0.0406311

—2.27501 — 0.996641

—5.31105 + 0.165721

0.800491 — 0.0406311

—2.27501 + 0.996641

—5.31105 — 0.165721

—0.590815 + 0.5259941

10.12740 — 2.487981

—1.62823 + 2.669401

—0.590815 — 0.5259941

10.12740 + 2.487981

—1.62823 — 2.669401

0.595814 + 0.5101521

10.06680 — 4.049601

—1.78451 + 2.290101

0.595814 — 0.5101521

10.06680 + 4.049601

—1.78451 — 2.290101

slele|elsse]|a

0.440029 + 1.2152201

—5.96613 + 3.382861

0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

0.440029 — 1.2152201

—5.96613 — 3.382861

0

—0.436602 + 0.5548571

1.87781 — 1.713091

—1.63672 + 4.440201

—0.436602 — 0.5548571

1.87781 + 1.713091

—1.63672 — 4.440201

0.475410 + 0.4188451

1.55220 — 2.393121

—3.19595 + 4.860791

0.475410 — 0.4188451

1.55220 + 2.393121

—3.19595 — 4.860791

0.355912

—0.860619

U
U

U

u = 0.399851 + 1.2325001 0.78270 + 2.350261 0
u = 0.399851 — 1.2325001 0.78270 — 2.350261 0
u= 0474496 + 1.2119501 —5.71832 4 5.613661 0
uw= 0.474496 — 1.2119501 —5.71832 — 5.613661 0
u = —0.402451 + 1.2387701 0.46667 + 4.086321 0
u = —0.402451 — 1.2387701 0.46667 — 4.086321 0
u = —0.432707 + 1.2335801 —7.82605 + 0.621751 0
u = —0.432707 — 1.2335801 —7.82605 — 0.621751 0
u = —0.459952 + 1.2312801 —10.23690 — 4.624941 0
u = —0.459952 — 1.2312801 —10.23690 + 4.624941 0
u = 0.504700 + 1.2143201 1.52858 + 6.776481 0
uw=0.504700 — 1.2143201 1.52858 — 6.776481 0
u = —0.483738 + 1.2243601 —7.45916 — 9.836761 0
u = —0.483738 — 1.2243601 —7.45916 + 9.836761 0
u = —0.505337 + 1.2184801 1.20269 — 13.287501 0
u = —0.505337 — 1.2184801 1.20269 + 13.287501 0
U

U

U

—11.7250




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 u’? 4+ 29ut o~ 2u 41
C2,C6 R |
€3, Ca, Cr u’? + Ut 4+ Ju 2
Cs,C10 w4 —2u—1
08’09’211 w? 4 110 4 2u 1
12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1 yP? — 11yt 4 — By + 1
€2, Cq 229y -2y 1
C3,C4,C7 y*2 =51y + -+ 115y + 4
Cs5, C10 y? -1y 4 =2y 4 1
08,09,2: yO? £ 61y%t 4+ 2y 41




